E A @ E’ EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING
www.equipmentanchorage.com
oes. J. ROBERSON SH_EIET

ICW USA INC.
Jos No.  ]1-1058
DOUBLE ARM ULTRA I e IW/V/I2 3

OF

SHEETS
WALL MOUNTED

SEISMIC ANCHORAGE

STRUCTURAL ENGINEER OF RECORD __—"7
SHALL DESIGN THE WALL STRUCTURE ==

36" ALUMINUM TRACK. SHOWN
(12 GAJBY I USA) T

=TT USE 1/4"9 TEK SCREWS
AT STEEL STUD WALL
(16 GAGE, 50 ksl MIN.)

::L—>Tu

CG. NT. = 23"
43 1B

19" TRACK
Tv =12 LB/SCREW (MAX)
V= 84 LB/SCREW (MAX)

=TT

\ 36" TRACK

5/8" THK. 36" TRACK
N/ALL Bo,@/ Vu Tv = 43 LB/SCREW (MAX)
Vi = 52 LB/SCREW (MAX)

STEEL S5TUD WALL SECTION

NOTES.
1 ANCHORAGE DESIGN PER 2010 CALIFORNIA BUILDING CODE AND ASCE 7-05.

STRENGTH DESIGN IS USED.
HORIZONTAL FORCE (En) = 360 Wp (Sps= 200, ap = 25, Ip = 15, Rp= 25, z/h < 10)
VERTICAL FORCE (E,) = 040 Wp
2. CENTER OF GRAVITY (CG) WEIGHT IS A MAXIMUM. THIS PRE-APPROVAL ENCOMPASSES ALL WEIGHTS
UP TO THE MAXIMUM WEIGHT SHOWN.

3 STRUCTURAL ENGINEER OF RECORD FOR THE BULDING SHALL PROVIDE SUPPORT STRUCTURE
DESIGNED TO SUPPORT WEIGHTS AND FORCES SHOWN, IN ADDITION TO ALL OTHER LOADS.




E A @ E’ EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING
www.equipmentanchorage.com
’CW USA ’NC pes. J. ROBERSON 35
Jos No. ]1-1058
DOUBLE ARM ULTRA II e /D 3
OF SHEETS
SEISMIC ANCHORAGE 19 TRACK WALL MOUNTED
1257, 4 )25 2 x STUDS OR 4 x BLKG _
‘ ‘ (DOUGLAS-FIR LARCH .|
STRUCTURAL ENGINEER OF RECORD NUMBER 2 MIN.) 1S
_ 4 SHALL DESIGN THE WALL STRUCTURE (DESIGNED BY STRICTIRAL [l | L
q ENGINEER OF RECORD) T 1
“ 12 GA. ALUMINUM TRACK. ?
= L (BY ICW USA)
o>
D
s CO.IT. = 43 1B
R =
o USE 6- 1/4"0 X 4"
LAG SCREWS (MIN) TO
USE 6- 1/4"¢ TEK SCREWS (MIN) WOOD STUD OR BLKG.
_——— AT STEEL STUD WALL (PRE-DRILL HOLES N
A 4 (16 GACE, 50 ksi MIN) 0.1 TIMES THE SHANK DIA) A
5/8" THK. /
WALL BOARD

ELEVATION AT WALL

WOOD STUD WALL SECTION

LOADS:
BOLT SPEC: 1/4"¢ LAG BOLT
WEIGHT = 43 LBS (MAX OPERATING WEIGHT) ¢T = 717 LB/BOLT
HORIZONTAL FORCE (&) = 155 LB oV = 184 LB/BOLT
VERTICAL FORCE (E,) = 77 LB UNITY CHECK:
TENSION (T) o)y (M) ¢y
(43#(12) + 17#)23" of vl
ToveRMoAL= TS - 46 | B
2sorews (17%) 2 (B34 L .
(717 ¢ k] =056<10 .7 0K

T, parae= O LBS (UNIT IS FREE TO ROTATE 180° HORIZONTALLY)

SCREW SPEC: 1/4'@ TEK SCREWS
¢T = 418 LB/SCREW
¢V = 362 LB/SCREW

UNITY CHECK:
Tu M
<<DT> * <<DV> <10

e 84 \ _ .
<W> + <@> —0.4031.0 o o %

1054

T g om = 20 LB/SCREW

Towax = 46% + 26% = 72 LB/SCREW (MAX)

SHEAR (V) (WHEN UNIT IS ROTATED FLAT AGAINST THE WALL)

_ 48#12) + 7# | (43#(12) + THIR3) | 155%  _ g/ | p/sREW (MAX)

V
uMAX 6 SCREWS 172 screws) 6 SCREWS



= A 5[5 BQUIPMENT ANCHORAGE & SEISMIC ENGINEERING
ICW USA INC. s ) ROBERSON | £y
Jos No. ]1-1058
DOUBLE ARM ULTRA Il we WAL |03
SEISMIC_ ANCHORAGE 36" TRACK WALL MOUNTED

<—__ 12 6A ALUMINUM TRACK

125" |, , 125"
)
(0]
i (BY ICW USA)
ol S
= |
>
S i CE.WT. = 43 1B
ﬁ[{?:za--)
o - -
o0
- [o]
[o]
o
o
ELEVATION AT WALL
LOADS:

WEIGHT = 43 LB (MAX OPERATING WEIGHT)

HORIZONTAL FORCE (Ep) = 155 LB
VERTICAL FORCE (E,) = 17 LB

TENSION (T)

2scRews (33")

L STRUCTURAL ENGINEER OF RECORD
SHALL DESIEN THE WALL STRUCTURE

USE &- 1/4"¢ TEK SCREWS
AT STEEL STUD WALL
(I6 GAGE, 50 ksl MIN.,)

Tuparae= O LBS (UNIT IS FREE TO ROTATE 180° HORIZONTALLY)

5* 19 LB/SCREW

u PERP. = )

Towax = 24# + 19% = 43 LB/SCREW (MAX)

SHEAR (V) (WHEN UNIT IS ROTATED FLAT AGAINST THE WALL)

Vu MAX

_ 48#(12) + | (43#(12) + 723 |

5% _ 55 LB/SCREW (MAX)

8 SREWS 332 screws)

8 ScREWS

2 x STUDS OR 4 x BLKG
(DOUGLAS-FIR LARCH )
NUMBER 2 MIN.) o
(DESIGNED BY STRUCTURAL L.
ENGINEER OF RECORD) m

USE &- I/4"9 X 4"

LAG SCREWS (MIN) TO

WOOD STUD OR BLKG.

(PRE-DRILL HOLES N e

0.7 TIMES THE SHANK DIA)

st T, —

WALL BOARD

SECTION AT WOOD STUD WALL

BOLT SPEC: 1/4"¢ LAG BOLT
¢T =717 LB/BOLT
¢V = 184 LB/BOLT

UNITY CHECK:

Tu M
<¢T> * (CDV) <10

43 52\ _ .
<W> + <W> —O-84S1.0 o o %

SCREW SPEC: 1/4"® TEK SCREWS
¢T = 418 LB/SCREW
¢V = 362 LB/SCREW

UNITY CHECK:
Tu M
<<DT> * (CDV) <10

43 52 ) .
(4_18>+<362> =025 <10 .. OK




	DOUBLE ARM ULTRA II_calc
	2
	3

